cs105 Exercise Set 7
1. You compile your code without any syntax errors, and run your program.  At some point, the code does the same thing over and over again and will not stop.  This is called :
a. A run-on

b. An infinite loop

c. A hiccup

d. A code ride

2. You need to write a loop that needs to run the same code NUMLOOPS times.  The most appropriate type of loop is :

a. A while loop

b. A do-while loop

c. A for loop

d. A goto loop

3. You need to write a loop that needs to run the same code some number of times. You won’t know how many until you run the program, but you know it must run the code at least once. The most appropriate type of loop is :

a. A while loop

b. A do-while loop

c. A for loop

d. A goto loop

4. You need to write a loop that needs to run the same code some number of times. You won’t know how many until you run the program, and you might not want to run the code at all. The most appropriate type of loop is :

a. A while loop

b. A do-while loop

c. A for loop

d. A goto loop

5. What is the output of the following code:

int product = 1, i = 6;

while (i < 9)

{

      product = product * i;

      i++;
}
 cout << “i is : ” << i << endl;
 cout << “product is : ” << product << endl;
6. What is the output of the following code:

int product = 1, i = 6;
     do
{

      product = product * i;

      i++;
} while (i < 9);

 cout << “i is : ” << i << endl;
 cout << “product is : ” << product << endl;

7. What is the output of the following code:

int product = 1, i = 6;
     do
{

      product = product * i;

      i++;
} while (product < 9);

 cout << “i is : ” << i << endl;
 cout << “product is : ” << product << endl;

8. What is the output of the following code:

int product = 0, i = 6;
     do
{

      product = product * i;

      i++;
} while (i < 9);

 cout << “i is : ” << i << endl;
 cout << “product is : ” << product << endl;

9. What is the output of the following code:

int i = 6;
for ( i = 0; i < 3; i++)

         cout << “Hello” << endl;
 cout << “Done!” << endl;
10. What is the output of the following code:

int i = 6;
for ( i = 0; i <= 3; i++)

         cout << “Hello” << endl;
 cout << “Done!” << endl;
11. What is the output of the following code:

int i = 6;
for ( i = 1; i < 3; i++)

         cout << “Hello” << endl;
 cout << “Done!” << endl;

12. What is the output of the following code:

int sum = 0, i = 14;

for ( i = 0; i < 5; i++)

{

      sum = sum + i;
}
 cout << “i is : ” << i << endl;
 cout << “sum is : ” + sum);
13. What is the output of the following code:

int sum = 0, i = 14;

for ( i = 0; i < 40; i++)

{

      if (i % 10 == 0)

         sum = sum + i;
}
 cout << “i is : ” << i << endl;
 cout << “sum is : ” + sum);
14. What is the output of the following code:

int sum = 0, i = 14;

for ( i = 0; i < 10; i++)

{

      i++;

      sum = sum + i;
}
 cout << “i is : ” << i << endl;
 cout << “sum is : ” + sum);

15. What is the error in the following code:

int product = 1, i = 6;
     do
{

      product = product * i;

      i++;
} while (product < 9)

 cout << “i is : ” << i << endl;
 cout << “product is : ” << product << endl;
16. What is the error in the following code:

int i = 6;
for ( i = 0; i++; i < 3)

         cout << “Hello” << endl;
 cout << “Done!” << endl;

17. What is the error in the following code:

int i = 6;
for ( i = 0, i < 3, i++)

         cout << “Hello” << endl;
 cout << “Done!” << endl;
18. Write a program that uses a for loop to display the numbers between 10 and 20, inclusive.
19. Write a program that uses a for loop to display the numbers between a User entered minimum and maximum number, inclusive.

20. Write a program that prompts the User as to whether they would like to enter a minimum and maximum number.  If “yes”,  uses a for loop to display the numbers between a User entered minimum and maximum number, inclusive.  Continue performing this until the User enters “done”.
21. Write a program that prompts the User for if they would like to enter an integer.  If yes, prompt the User for the integer.  Use a for loop to display the factorial of the integer entered. Continue to do this until the User enters “no” to the first question.

